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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
' of this question paper.

2. Answer Q1 from Part A (15 marks) and any three
questions from Part B (20 marks cach).

3.  Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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Part A (Answer any one) ' o (15 marks)
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1. Write a long note on any one of the folloWing: .

(2) Dumenil and Levy’s characterisation of the
three different phases of modern capitalism

and the dynamics of class alliances in these

phases.

.

(b) The Analysis of Fordism and Post-Fordism by the

French Regulation School
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(c) Gender and Economic Globalization — Different

Facets

(d) Dimensions of Infornialization under Globalization
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Part B (Answer any three)

(20 marks each)
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3.

What led to the crisis in the Fordist regimes and their
eventual decline? Do you think that even though

Fordism as a regime of accumulation has declined,

‘Fordist techniques of production are still thriving and

spreading? Discuss. -
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T~ e
.

1497 5

e, T TR R @ e S R e s
2 fore T At & R & Ry W TR A 9
WA I W R

Identify the five main types of. globa_l flalue chain
(GVC) governahcé and theoretical-l‘y analyse the |
conditions undér which they %lriée. Disculsfs'how GVC
goVernance structures have evolved 6V’er-time in any
one specific indusfry along with- én .ef(planation',of the -

causal factors for such changes.
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5. Explain the term neoliberalism. Do you think that the

state plays a minimal role 1n a neoliberal system?

Discuss.
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6. What do you understand by f1nanc1a11sat10n ? Analyse
how financialisation has resulted in a redlstrlbutlon

of incomes and wealth in favour of f1nanc1a1 sector

and part1cu1ar1y the upper fract1ons of capltahst'
and manager1a1 classes What are 1ts broad social

consequences?
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7. How do inequalities of power and wealth affect
valuation of costs and benefits of environmental

degradation? How do they affect environmental time-

preference?
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. Discuss how\the domain of 1ab0ur_niarket .and paid
- work are not.indepen(\ienf of the non-market domain

. of household's and domé_stic work. Expléin how a ‘co-
operative conflict’ perspective can provi.de a useful
framework to understand genderldiménsions within

households.
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